GOT IT? 3.5 Two projectiles are launched simultaneously from the same point on a

horizontal surface, one at 45° to the horizontal and the other at 60°. Their launch speeds
are different and are chosen so that the two projectiles travel the same horizontal distance
before landing. Which of the following statements is true? (a) A and B land at the same
time; (b) B’s launch speed is lower than A’s and B lands sooner; (c) B’s launch speed
is lower than A’s and B lands later; (d) B’s launch speed is higher than A’s and B lands
sooner; or (e) B’s launch speed is higher than A’s and B lands later.




Find the orbital period (the time to complete one orbit) of the Interna-
tional Space Station in its circular orbit at altitude 400 km, where the
acceleration of gravity is 89% of its surface value.



An engineer is designing a flat, horizontal road for an 80 km/h speed
limit (that’s 22.2 m/s). If the maximum acceleration of a vehicle on

this road is 1.5 m/s?‘, what’s the minimum safe radius for curves in
the road?
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